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Instructions

The Geometry test has two subparts. Each subpart contains different types
of questions. To begin the test, click the "Next" arrow button at the top.

Read the passage - 'VH937030_directions' - and answer the question below:

VH937030_directions

Subpart 1 of this test contains different types of assessment questions in Geometry. You may
make notes on scratch paper or use the Notepad tool within the online test. Make sure you
answer all the questions. You MAY NOT use a calculator in Subpart 1 of this test.
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1.

The figure shown represents a machine part. A hole passes through the machine part

from top to bottom.

Marius wants to determine the volume of the machine part by subtracting the volume of
one geometric shape from the volume of another geometric shape. Based on the figure,
which two shapes should Marius use?

Select two shapes.

Pick up to 2 answers.

A

B.

a cone

a cylinder

a pyramid

a triangular prism

a rectangular prism
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% For right triangle por with arightangle at @, sin(P) = i_ and cos(P) = Vi

2

What is tang ?

A AR

4

B. _V[’;

C. 7
3
D. 4
\F
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3. A partial proof that the opposite angles of a parallelogram are congruent is shown.

B C

i

A D

Given: Quadrilateral ABCD is a parallelogram
Prove: LA = £C

Statements Reasons
1. Quadrilateral ABCD 1. Given
is a parallelogram
2. BC||AD, AB||DC 2:

3. /A and /£ B are supplementary; | 3.
£B and £C are supplementary

4, /A and £C are congruent 4,

Which reasons are missing from the proof?

Select all that apply.

Pick up to 6 answers.

A Definition of parallelogram
B. Definition of parallel lines
C.  When parallel lines are cut by a transversal, corresponding angles are congruent.
D. When parallel lines are cut by a transversal, consecutive interior angles are
supplementary.
E.  Angles supplementary to the same angle are congruent to each other.
F Angles supplementary to the same angle are supplementary to each other.
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4. Parallelogram gs717 has midpoints g 1. as v marked on the sides as shown.

R K S

U M T

Which rigid motion could be applied to , gstr toshowthat , gsir= . TUS?
A reflection over o7;

B reflection over 7,

C. rotation gpe clockwise about the intersection point of M and IN

D. rotation 18pc clockwise about the intersection point of ST and RT

5. Afish tank in the shape of a rectangular prism holds 30 cubic feet of water. The tank has
a length of 5 feet and a width of 3 feet. What is the depth, in feet, of the tank?

A2
B. 6
c. 10
D. 15

Read the passage - 'VH937170_directions' - and answer the question below:

VH937170_directions

Subpart 2 of this test contains different types of assessment questions in Geometry. You may
make notes on scratch paper or use the Notepad tool within the online test. Make sure you
answer all the questions. You MAY use a calculator in Subpart 2 of this test.
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6. In the figure shown, Roland is to prove that GH = HJ-

ADGH = ADIJH

?

:
Part of his proof is shown in the table.
Statement Reason
1. DG = DJ 1. Given
2. DK bisects ZEDF 2. Given
3. ZGDH = £IDH 3. Definition of angle bisector
4. DH = DH 4. Reflexive property
5. 5.
6. 6.

Corresponding parts of
congruent triangles
are congruent

What is the reason for statement 5 ?

A AAS
B. ASA
C. SAS
D. SSS
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7. On a coordinate plane, , _4p¢ has vertices at 4 (10 5), B(10_15),and ¢ (5 5)-

~4d B C has vertices at A4 (30_12), B (30_53),and C (10_13).Which
transformation maps , 4gconto , 4y g ¢ ?

A

(x,y) — (3x, 3y +3)
" (6, p)— (x,3y-3)
(x, y) — (4x + 10, 4y +8)

> (x, y) — (4x — 10, 4y — 8)

- Propane is stored in a cylindrical tank with a diameter of 15 inches and a height of 48

inches. Which equation could be used to determine the radius of a spherical tank with the

same volume?

A orasius = Lo

B 2 .
r[l— | (48) = j—r}

C. £ 1522 .
ZrL%I 47 (13)48) = 45~

D.

27 (15) +7(15)48) = 47517

- On a coordinate plane, AABC has vertices at A(3.6) B(12.6) and ca12, 1).Which

statements are true?
Select all that apply.

Pick up to 6 answers.

A a ABC is aright triangle.

B. s A4BC is an equilateral triangle.
C. s .A4BC is anisosceles triangle.

D. s ABC is a scalene triangle.

E. ,4 and , ¢ arecomplementary.

F .4 and ¢ aresupplementary.
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10. Lucy wants to approximate the area of a pond that is roughly circular. She knows the

distances given.

EﬁI&ﬁ

Which is the closest approximation of the surface area of the pond?

A 25434 2
B. 101.736 ft?
C. 196250 ft?
D 785,000 ft?

1. A construction company is hired to resurface a straight section of road.

¢ The section is 100 yards long and 18 feet wide.
¢ The company’s truck can haul 250 cubic feet of gravel per load.

300 ft

Pond

What is the minimum number of truckloads required to completely cover the section of

road to a depth of 6 inches?

A3
B. 4
c. 10
D. 11
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12. Dante rides his bicycle due west at 10 miles per hour. Annie rides her bicycle due north
at 12.5 miles per hour. If they both leave Annie’s house at the same time, approximately
how far apart, in miles, are they after 4 hours?

A

B.

16
23
64
90

13. A right triangular prism and a rectangular prism are shown. Each prism has a height of j,

inches and a cross-section that is parallel to its base. The length and width of the
rectangular cross-section are given.

rl— =% —
|
|
I

A in. L hin. S Tn,

- = -~

If the volumes of the two solids are equal, which pair of measurements are possible
lengths of the legs of the right-triangular cross-section?

A

w

4 in and 6 in
6 in. @nd g in
g in and 12 in

12 in. @nd 16 in
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14. Triangle 4B is shown on a coordinate plane.

3

4

3

A
EENCSLEEER

"5 4 -3 -2 -1 12345

Which statement is true?
Select all that apply.

Pick up to 5 answers.

A If D is the altitude from 4 to BC the coordinates of p are (1_3).

B.  The perimeter of , 4g¢ is about 15 units.
C.  The length of the longest side of the triangle is about 5 g3 units.
D. The area of the triangle is 9 square units.

E.  The length of the shortest side of the triangle is about 3 1 units.
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15. The following statements describe triangles 4g¢ and poR .

For .4BC: 4C=2 4B=4 and Bc =35
For .POR: QR=75. PR=3. and pg =3¢
Which statement explains why . 48 and ., poR are either similar or not similar?

A L4Bc and . poR are not similar because 2£ ';i .
B 4Bc and ., pog are similar because ¢ — 2 _ B¢
- - = ER AE OR
€ 4pc and . poR are similar because & — ¢
= -t = j=to} OR
D. [ AC EBC AB
and . are similar because == =
24BC ~POR PR OR PO
18- What is the equation of the line parallel to the line with equation = _i_x —5 and

passing through the point (g _3)7

A

1
y=——x+4+3
- 4

4 -
= —x—>3

3
y=——x—3

1

4 41
= —x——
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17. Lorenzo is g feet, 3 inches in height. He looks at his shadow when the angle of elevation
of the sunis 35e.

What is the approximate length of his shadow?
A 4 feet, 5 inches
B. 7 feet, 7 inches
C. g feet, 11 inches

D. 1p feet, 11 inches

18 The coordinates of the endpoints of 75 are given.

A(7.6) and B(—5.—6)

Point g is located on 5 so that AE _ 2  Whatis the ,-coordinate of point g ?
4 B 1
A2
B. 1
C. 1
D3
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19. Three points of rectangle 4p¢cp are shown on a coordinate plane.

o

]
b |
o)
G
A

]
W

1
J

1
H
=
s
N
wn
o

Y

a4

Which statement is true? Select all that apply.

Pick up to 5 answers.

A

The coordinates of p are (4, _2).

The perimeter of rectangle 4g5cp is about 13 41 units.

The length of D is about g g4 units.

The area of the rectangle is about 40 square units.

The length of D is about 4 47 units.
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20. James and Padma are on opposite sides of a 100-ft-wide canyon. James sees a bear at

an angle of depression of 45°. Padma sees the same bear at an angle of depression of
65°.

James 100 ft Padma

/Bear._..

What is the approximate distance, in feet, between Padma and the bear?

A 2121t
B. 75.2ft
C. 964 ft
D. 1716t
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21. Which transformation proves . 4B8C = . DEF?

y
F
7
a1 1115
i O O
-
f,/ 2
% 1
'-?-6-5-4-3-2-_11 1234567 |°
k= JE

b Edy

LD /

5 i

: F
7

A reflection of , 4pc overtheline y =
B. translation of . _4p¢c 7 unitsrightand g units down
C. rotation of . 4B 90~ clockwise, centered at the origin

D. reflection of , _4pc overthe , -axis and then over the  -axis
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